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nstructions :
) First 15 minutes are allotted for the candidates to read the question paper.

1) All questions are compulsory.
1)  Question Nos. 1 to 10 are of Multiple Choice Type Questions,

v) Question Nos. 11 to 20 are of Very Short Answer Type Questions. Their answers are t
be given in about 10 words (one sentence) each. 10

) Question Nos. 21 to 26 arc of Short Answer — I Type Questions. Their
" : an
given in about 50 words each. SWETS are to be

i) Question Nos. 27 to 30 are of Short Answer — I Type Questions '
be given in about 100 to 125 words each. Their answers are to

i) Question Nos. 31 and 32 are Long Answer Type Questions. The;
given in about 250 words each. - n.' ANSWErS are to b

i1) Allotted marks of all the questions are given against each of them,
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(A) 1965 R

(13) 1966
(C) 1971

(D) 1972
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(Multiple Choice Type Questions)

Note : Four alternatives are given for cach of the following ten questions. Choose the
correct alternative and write it in your answer-book.

1. What was the cause of the disintegration of the Soviet Union ?
(A) Political and economic institutions could not fulfi

| the aSpil'ﬂtiOﬂS of the pegp]e
(B) There was administrative and politica] deadlock.

(C) There was a big shortage of consumer products.

(D) All of the above
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2. Which of the following was not member-country of ASEAN at the time of its

formation in 1967 ?
(A) Indonesia
(B) Bharat |

(C) Singapore

(D) Malaysia .

3. Whohas 16.52 percent voting right in LM .F. (International Monetary Fund) 2 1
(A) US.A.

(B) China
(C) India

(D) Russia

4. What type of problem is Global Warming ? 1
(A) National
(B) International
(C) Local

(D) Local and National

5. What does disarmament mean ?
(A) To encourage some special type of weapons.
(B) To collect some special type of weapons.
(C) To avoid some special type of weapons.

(D) None of the above
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6. Which sector was the main focus of the Second Five- ear-Plan ?
(A) Agriculture
(B) Educatjon
(©) Industry

(D) Services p

7. i i '
In which year was the Tashkent Agreement signed between India and Pakistan ?

(A) 1965
(B) 1966
(C) 197]

(D) 1972

8. Who was the Prime Minister of India at the formation of Bangladesh ?
(A) Morarji Desaj | |
(B) Rajiv Gandhi o r
(C) Indira Gandhi

(D) Lal Bahadur Shastri

9.  Which party got maximum votes in th(f:_ éeneral Election of 1977 2
(A) Janata Party | . r
(B) Jan Sangh
(C) Congress

(D) Communist Party
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10. Why was Mandal Commission formeq 9

11.

11:

12.

12.

13,

13.

14,

14.

15.

IS

(A) To find out the causes of Poverty

(B) To find out the number of Dalits,

(C) To find out the area of educationa| and socjal backwardness.

(D) None of the above

(e g -3wtta ve=)

(Very Short Answer Type Questions)

U e = ? IY S RO T2 |

Why was European Union formed ? Write any two causes.

HHIR F TR TS 91 % 919 feafg |

Mention names of four member countries of ASEAN.

!

YIEh! FT 8 ? FHHT T A FTRT |

What is UNSECO ? Write its full form.

‘H@mm’waﬁmmﬁlt

Write meaning of “Common Property-Resources™.

Ayt & FiE 2 e fafae )

Mention any two causes of Globalization.

[7of12]
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16. What were two main challenges of India after independence

7. ﬁwm%aﬁiacammésﬁﬂmml

it : ity Council.
17. Give names of any two permanent member countries of the Security

18. 1975 3 Uiy STATAEATE 1 TYON & HIS 2 SR vy |

18.  Write any two causes of the declaration of Nationa] Emergency in 1975.

19. "W SRR #0278 w4 e o 0

19. What is “Operation Blue Star” ? Why was it Jaunched ?

20. W%@mﬁﬁlﬁﬂw%m%ﬁ:ﬁ{l

20. Mention names of two states located in the North-East of Indija.

(ST -3ert — I )

(Short Answer — I Type Questions)
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21.  What is Global Warming ? What are its main causes ?
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"= Why is United Nati ~
¥ ts Uinited Nations necessary 2 Write ty, reasons. 2% + 2%
23, ' | |
TartaTer % FER W WRE 57 g8 W Hfm | 5
23 d . A, '- ll
Explain India’s stand on th:e issue of Environment, 5
2 : |
4. Ay I o o s o forRam ¢ 5
4. Write a short note on Niti Aayog. 5
25, Te-Progm e 2 gz =i 3w R 7 24 + 2%
25.  Whatis Non-alignment ? Why is it useful ? 2% + 2%
26. FAHH YTIET H TS TIHN F TEIEF B 7 5
26.  Why is Coalition Government necessary in present context ? 5
https://www.upboardonline.com. « -
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(Short Answer — II Type Questions)
27, 1992 % Yea GRICH %1 F1 IWT AT 7 T8 gl b 9% @I 7 343
27. What was the objective of Earth Sumnﬁtl—of 1992 ? How far was it successful ? 3+3
{%) Hgaa Uy & R Q) fashy afirpel & w1 Ievi@ I |- —_
28. Mention functions of any two special agencies of U.N. 343
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29, Exami
Xamine the Nuclear policy of India.

I T 3T w1 8 7 ey s e of

30. What
hat is Manda} Commission ? What were its main recommendations ?

(% -3ty )

(Long Answer Type Questions)
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24
31.  What was the role of Mikhail Gorbachev in the disintegration of Soviet Union ?
n
OR
What is ASEAN ? What is its objective ? How is India related to ASEAN 2
o 24

32. mﬁaﬁﬂmﬂ.ﬁlﬁﬂf ?Wﬁmﬂ’mmmmﬁmm ? Focfig v
A1 & 97 fRg TR T off 7 -
| 142

JAYd]

mm%mmﬁ%mmm%m-wﬁﬁwm
| |

323(1Q) [10012) (Y-1)

(3 scanned with OKEN Scanner



32, . . €
2 When was the first Five-Year-Plan Implemented ? Which factor Was given e

Cmphasis 7 How was it different from the Second Five-Year-Plan ?
OR

Discuss the nature of the dominance of Congress Party in early years of Post-

Independence era, 8
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